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Instructions: 1) Attempt any five questions in all.
*2) It is compulsory to answer at least one question from each module.
3) Last question may be answered from any Module.
4) Figures to the right indicate marks.
MODULE-I
Q.1 a) Due to an increase in cost of production, the supply of a product decreases. Explain this  (6)
concept with the help of supply shift.
b) The market consists of two buyers and sellers whose equations are given below. (6)
Demand equation: Qd =140-4P, Qd 3=40-0.5P
Supply equations: Qs A=40+3.5P, Qs =80 +6P
i) Find Equilibrium Price & Equilibrium Quantity.
i) Find Quantity Demanded & Supplied by the two Buyers & Sellers.
¢) Write short note on (4+4)
i) Consumer Price Index
ii) Market Equilibrium. -
Q.2 a) What are the purpose of demand forecasting. Dgtgrmine the Linear regression equation for the (10)
following data.
Total Cost in Rs (Y) 200 250 260 320 330 470 | 510
Total Output in units (X) 10 15 18 20 25 33 35
What will the cost incurred to produce an output of 60 units?
b) Differentiate between Real Gross Domestic Product (GDP) and Nominal GDP. (6)
¢) Write a short note on types of Cross elasticity of demand. 4)
' MODULE - II
Q3 a) A company is planning to launch a new product, for any volume of production below 400 units  (8)

the fixed cost is Rs 6,000 and the variable cost is Rs 20 per unit. If the volume is to be more
than 400, larger equipment will be needed and the fixed cost will be Rs 10,000. However, the
variable cost will reduce to Rs 10 per unit. At any volume the selling price is Rs 30 per unit:

i) Calculate Break Even Point

i) What is the profit or loss if the volume is fixed at 500 units?

iii)  What are the limitations of Breakeven analysis?
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Why are capital expenditures deemed very important?

Write a short note on:
1) Liquidity ratio
ii) Fund flow statement

Find Net Present Value for the following project.
Year | Cash Flow
0 Rs -1,00,000

Rs 20,000
Rs 30,000
Rs 40,000
Rs 50,000
Rs 30,000

N|H W=

What are the disadvantages of insufficient working capital?

Write a short note on:

1. Assets
ii. Debenture Capital
MODULE-III
Explain the various functions of a manager. .

Explain the advantages, limitations and suitgbility of Line and line staff organization.
&£

‘Planning is the essence of management, it is a management function’. Elaborate.

Elaborate on the contribution of Taylor and examine its relevance in the present day business.

With a neat diagram, differentiate between narrow and wide span of management
Write short note on:

1) Strategic Business Unit
i) Marketing Mix
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MODULE-IV

What is communication? Explain the various directions in which formal communication (6)
generally flows.

Under .what circumstances is an autocratic style of leadership the best & when is it not.  (6)
Explain.

Write short note op: (4+4)
i. Maslows Theory of motivation.
ii. Types of control

“Motivation is the core of management” explain. What can management do to motivate the (5)
staff in an industrial organization?

Write short note on (5x3=15)
i. Control process

ii. Recruitment and Selection

iii. Appraisal techniques
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